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UNIT 1 More about nur}lbers

-
% ‘ Read and answer the question.
' ‘ . 4 Put the numbers in order from the smallest to
TAKE tHe l the greatest. Then write the letters in that order
CH AI.LE N GE to find the answer to the question below.
Y
¢ What jom can be eaten on the road?
A=211 T=1.22 F=22] A=1.20 J =4.89 .22
R =1.27 C =3.60 I = 3.06 A=4.90 M .99
LEMEIS it i criiees eeiees ceeeees seeeees seeeenes seeesuth ol ciiieen cieene.
NUMDEIS  tiiiiiis it virviien ceeies seensees senseees sesnnres SaBheses 4 seevseee seeesnes eeennens
.
Look and colour to illustrate the number
<o
0.6 0.60
six tent sixty hundredths
Look and e chart.
H T o T H
4 6 657.98
123.56
8 g % 45.03
E £ S 182.26
T S =
o
25.69




0.38 1.16 1.75 0

0.70 1.47 0.02 0

1.29 0.25 1.83 0.91

Draw a number line and find the numbe
3.4 8.6 .9 0.7
3.2 1.5 .8 4.1
9.6 .3 7 5.1

Fractions a

Read co

Ex.

7 5

0 0

2 8 \l,
2 0

2 0

0




8 3 2
10 12 10
6 4
10 10

Compare the following fractions and say if the

b)
2 1
2 5
1
4

a)

4 3 (7] 3 2=
4 6

d)

1 2M1 =

9 7

r than or less than.

2 5 2 3
6 4
UnN into fractions.
Q 43 C) 9.1 d) 9.563
& g) 10.356 h) 10.7




You’re up!
4 )

Look and complete. Each chart is a unit.
Fraction Decimal | ! Percent \
‘ Percent \

Decimal Percent

Fraction

\
9

| (o
=

V"

4
.

Fraction Decimal Percent

Fraction Decimal Percent




Multiplying and dividing

' ‘ “ Read and answer the questions.
- Santiago wants to buy some plastic to cover his
TAKE e l new notebooks for the next school year.
CHALLENGE ,). He needs 41.8 cm for each notebook.

How much plastic does he need for his 10 notelbooks?

There are 10 students in his class and each student has 10 notebooks, how
they use together?

Look and complete.

’
Multiplyin \ Dividing

10000 100 10/ 1 1
10 100 1 000

spaces + 10 digits move right ...... spaces

spaces + 100 digits move right ...... spaces

spaces + 1000 digits move right ...... spaces

. = I >




Answer these.

Numbers

0.413
7.45
0.128
10
88.4

Times 100 Times 1 000

Answer these.

Numbers

Divided by 10

9)0.4%1000 = .ciiiireiiin.,
) 0.241 X 1000 = ..veovvern,

)9.353X 1000 = .ocveveean)

It took me about




Put the numbers in order. Then divide them by the number given.

4 N\ h
5.345 5.467 6.789 6.934

5.723 5.432 6.543 6.136

1.155 1.345
1.552 1.105

Look and compl

Which of 00 00 the line?

Q) 76 76 000 e) 630 + = 0.63
D) 8.26 X = 82.6 f) 506 + = 50.6
C) 4.6 X = 460 g) 294 X = 29 400

d) 810 + = 8.1 h) 3186 = = 3.186




r

Look, talk and colour the boxes.

¢ Practise multiplying and dividing by 10, 100, 1000.

Use the following colours : 10 — blue, 100 — orange, 1000 - pink.

0.06 5.95 27.98
60 59.5 0.2798
287.6 0.325 1100
2.876 3.25 1.1
\ 4
12.65 3.25
0.0287
120
108.7 0.0301 0.12

27.98 6 3.8
279 2.89 0.138
0.343 29900

3.43 29.9

2.87 3.43 3.99
2870 34.3 0.0399
12 32.198 86598
0.12 321.98 865.98




Rules of divisibility

‘ Read and answer the question.

b ~Q

T AKE - Carlos is arranging cans of sodas on shelves.
THE ' He has 24 cans of regular coke and 16 cans of
light coke.
CHALLENGE e
Each shelf will have the same numlber of cans of regular coke or light coke. | S must
place all of the cans on shelves, what is the possible number of shelves Car ?

ty Rules
A number is divisible by... Divisible Not divisible
2 if the last digit is even (G 3 97@ v 4 97X
3. 315 139
number divisible by 4. 8 512 7 518
14 975 10 978
6 if the number is divisible by both 2 and 3. 48 20
9 if the sum of the digits is divisible by 9. 711 93
10 if the last digit is 0. 15 990 10 536




Look and put a tick in the box if the number is a divisible one. If it is not a
divisible number, put a cross in the box.

546 13.321 32 25
11.766 11.200 45 763
74 8.342 9.111 7.545

Use the rules of divisibility to answer these.

a) 22 isdivisible by ................ f) 40 is divisible by
) 38 is divisible by ................ Q) 63 is divisible by .
C) 54 is divisible by

d) 12 is divisible by




-

Look and circle.
-
-
-
g

Ve\ ram. What are the numbers divisible by?

Place the numbers on t

You don’t need some n

11 28 24 32

7 34
27 36
20 12
30 45

Divisible by 2 Divisible by 3




Write the numbers in the correct section.

2700 3845 1004 8523 3915
7440 3618 7158 6237 5634

Divisible by 5

Divisible by 6

How many numbers can y ill in the diagram?

N

Divisible by 2 Divisible by 8




Multiples

Look, read and complete.

2134|5678 |9(10]/11(12| 98, 12, 16, and 20 are all
31456789 ]|10]11]|12]| mulliples of

2
4168 |10|12[14]16]18]20(22[24| b)11, 22, 33, 44 and 55 are all
6 |9 |12]15]|18|21(24[27|30|33|36| multiplesof

8 |12]|16]20] 24
20| 25 30
12|18|24|30( 36
1421|2835 42
16|24 | 32|40 48
18| 27|36 | 45| 54
40 | 50 | 60
44 | 55 | 66

ViR IN|(aojn|hLh|WIN]| =]|X
Vio|N|aog|n]|R|WIN]| ~ | =
—

o
[y
(9]

[y
o
=
o
N
o
W
o

[
[y
=
=
N
N
W
W

Multiples of 4. , 24

Multiples of 6: 6, ,  , 24
Multiples of 8: 8,  , 24

Since 24 is a multiple of , , , and , it is considered a common multiple.







Read and find the least common multiple for each pair of numbers.

The least common multiple of 3 and 4 is 12. hlo
Multiples of 3: 3,

Multiples of 4: 4,

A
3,9 11,5 @
4,7 9
Factors

Read and complete.
by

is the to a

A fact wh umber multiplied another

numbob find
Ex.

roduct.

2X3=6

other words, a factor asking, "What can we divide
numiber by?”




Write the factors of these numbers — in order.

12= 81=
18= 36=
27= 50=

Read and find the factors of the numbers on the right.

Factors are numbers that you miiitipl

30 = X
fogether to get another num
For example, 2 multiplied by# e s o2

and 4 are the factors of

and fin MIissi Is.

21 =3x__ Remember, when a factor is a prime
7 36 =2X2X3X_ number, it is called “a prime factor.”
5x3x 45=9x__

Look

15
42

75

60=2x3x2x




Prime numbers ®

Read and colour all the prim N answer the questions.
Prime numbers are numbers{gre tham 1) 1123 |4|5|6|7/|8]|9]|10
that cannot be divided mber; 1112|1314 |15|16 (17|18 |19 | 20

except themselves and 21 |22 |23 |24 |25 |26 |27 |28 |29 | 30

7 is a prime numb only by 3113233 (34|35|36|37 38|39 40
divided by Z an 41 | 42 |43 |44 | 45 | 46 | 47 | 48 | 49 | 50

61 | 62|63 |64 |65|66|67 68|69 | 70
71172 173 (74 |75 |76 |77 |78 |79 | 80
81 82|83 84|85 |86|87 |88 |89| 90
91|92 |93 94|95 |96 |97 | 98|99 | 100

a) Is the number 7 a prime number? b) Is the number 8 a prime number?
Why (Noh)? ..., Why (not)? ...,

c) Is the number 9 a prime number? d) IS the number 5 a prime number?

Why (Nnot)? ... Why (Nno)? ...




You’re up!

7

Read and circle the correct option.

1)

2)

3)

4)

5)

Look and colour the circles that

Which of the following numbers has both 4 and 7 as factors?

) 28 b) 36 c) 20 d) 42
Which of the following numbers is a factor of 8 but not a factor of 187?

Q)2 b) 6 c)3 4
Which of the following numbers has both 3 and 5 as factors?

a) 25 b) 6 c) 45 d) 18
Which of the following numbers has both 2 and 6 as fagtors?

Q) 48 b) 38
Which of the following numbers is a facto

Q)4 b) 9

4




UNIT 2 Inverse operations

' ‘ Q Read and answer the questions.

TAKE e l 1. 2.
CHALLENGE 3y S 4
1) You think of a number. Then multiply it by 2 and the answer you get is 24, Qs your
number?
2) You think of a numlber. Then subtract 25 and add 2. The answer you get iS 2%, whal was

your number?
3) You think of a number. Then add 15 and multiply it by 2. Next you
answer you get is 16, what was your number?
4) You think of a number and double it. Then you add 31. Next you 4, The answer

you getis 149, what was your numiber?

y 2 and the

Read and complete the definition and t

[ of the to that and ]

Inverse Operation is opet@ation erses the effect

another operation.
Addition subtraction ar ions.
You can use inverse operati ck the answer in a
calculation.

98 - 54 =

need to find a number in
€ opposite operation.
-7=3 ?2=3

54 + 44 =
You know that 7 +
math pro

Find the 'missi umbers.

34 + =40 25+ =63 87+ =123 42 + =75 12+ = 30

+ 43 = 67 + 38 = 83 + 71 =160 + 562 = 91 + 13 =58




Read and complete.

Multiplication and division are inverse operations.

7X3= Let's check! 21 = 3 =
9 X = 369 Let's check! 369 - 9 =
63 - 9 = Let's check! OX7 =

Find the missing numbers.
72 + =9 6 X =42 X3 =24

114+ =57 33X =495 23X =115

Can you complete these in one minute?

it that to in
Brackets are used group numbers. When a part a problem is brackets,
is necessary you work out this part first.

Ex.
3+(2X3) = 3+ =




Solve these.

al 6 ! xlal+]13 = o) 3] - 16| X |10
c) (2] + 3 8 | = dl 7 x5  + |11
e) 22 - 5|+ | 4 = ) (25| +

Look and solve the operations. Then circle the

the incorrect ones.
a

a)(5x6)+5=
53 35 45
b)(2x7)-1=

d)96-(2x5) =

86 87

88

er and cross out

70-(2x6) =

58 46
)(1x5)+4=
5 9 8
g9)79-(2x95) =
68 70 69
h)(9x8)+ 4 =
77 75 76




Y;)u’re ub

r

Look and complete.

r

Set 1




Written addition and subtraction

7

\

' ‘ - “ Read and answer the questions.

2 Write the operations you had to make.
TAKE THe l Last week, a new super hero started to protect

CHALLENGE Iy people in the city. He is called Bratachema.

Bratachema has helped 278 kids, 318 women and 427 men. He has helped oys,
How many qgirls has he helped?

How many adult people has he helped?
How many people has he helped in total?

Read and answer the questions.

c) What is the total of 566
743,121 877 and 344 566?

a) Whatis 4 743 927 added b)) What is th

to 233 8207 192 an 1

K

d) Add to er 133 at is the difference f) Subtract 189 990 from 346
and 1 56. between 567 442 and 385 556.
4317




[
Word problems

Read and answer the questions.

1. Mike purchased a vehicle for $59 425 and spent $ 8 652 on repairs. How much did the
vehicle really cost?

3. Two brothers bought a new television set
old felevision values $ 7850. They had
What was the cost of the new televisi




You’re up!

/" Can you find out what the values of the fruit and the -shapes are? N\




Lines, segments and rays

7 ‘TAKE THE l

CHALLENGE

will be needed?

Read and answer the questions.
Draw to illustrate the arrangements.
Cars needed:

Falric for each flog:

54 third grade students are going on a Samantha used 21 meters iCc to
camping frip and will fravel by car. make 6 large flags of her team.
If each car holds 6 students, how many cars How much falbric did or h

flag?

Read the definitions

4+
Q)
Itisan e position on a plane surface.
C)

b)

andiwrité,theiwords.
Line Point Line segment
Q ' o

It is a set of points in a straight path that
extends in opposite directions without
ending.

d)

It is a part of a line between two end points. It is a part of a line that has one end point
and extends in one direction without ending.




- "

" e

-

Match the words with the lines.

1. Point Q) - -

2. Line segment o) - =

3. Line c) <

4, Ray d) -

D. Parallel lines e)

6. Perpendicular lines f)

7. Angle ) >
8. Midpoint

Talk to your friends and decide on how to i words.

Perpendicular lines

a) ) c) d)




Yc;u’re up_!

A

OAisa

ED is

q.ook and write. Use the words on page 31.

BA

OJisa

JGisa

JHisa

Bl and ED are:

OD and JH are:

OEisa

Jlisa

@




Angles
o ~Q

2

-/m

TAKE 1He
CHALLENGE

Read and answer the question.

A Ferris wheel makes five full rotafions and then
stops to let more riders on.

How many degrees in total did the Ferris wheel
rotate before stopping?

Explain what you did to find t

.

Read and use the words to complete th

This

be up

You can use a protractor @os
make a sensible estimate firsts

1. angle is acute. The
2. Place the cross of the

top of the corner

3. Line the b m line of the

protrac o} f the lines of the

angle.

4, Starting 0°, count up fo the angle’s

other line and read the measurement. This

angle is 67°.




L e l I

Read and label the angles.

Acute angle Right angle Obtuse angle
Greater than 900 but less
Less than 90° Exactly 90° >

than

Straight angle Reflex angle Full

A

Exactly 180°




You’re up!

4 . .
Read and answer the questions. Draw to illustrate your answers.

1. A water sprinkler covers 90 degrees of a backyard

lawn. How many fimes will the sprinkler need to be

moved in order 1o cover the full area of lawn?

) @

B ‘\NVY .-
9

\
P \ !/’ \
/ \5“"

2. A ceiling fan rotates 75 degrees and then stops.

How many more degrees does it need to rotate

order to make a full rotation?




UNIT 3 Comparing fractions

4 ™
PR ‘@M Read and answer the question.
TAKE 1HE ' Dana is making shorts for her son’s soccer team.
Yesterday, she used 4 / 6 m of cloth and today
CHAI-LE NGE _‘)_ she used 3 /5. When did she use more cloth?
Explain what you did to find t
. y,

Read and complete.
Equivalent fractions are fractions that have
value, but they are written differently.
2
1 — ¥
2 8
o}

piciures resent them.

You can




You can make equivalent fractions by multiplying or
dividing both numibers (numerator and denominator) by
the same amount.

3 X 4 12 45 -+ 5 9
8 X 4 = 32 50 =+ &5 = 10

Find equivalent fractions.

6 X
5 X
/7 X
2 X
12 X
Q9 X

Write if the fracti

a) c) d)

3 27 /2 9 48 12

S 45 24 3 64 16




Word problems

Read and answer the questions.

1) What fraction has denominator 12 and is equivalent o 3 / 4?7

2) Which fraction is greater? 0%

Use the symbols “<”, “>" or *=",

O

18 13 32 52 115
15 15 48 33 41
3) Yesterday Andrew p m? of cormn on his farm. Today he has planted

5/7 m? On which.da







Problems with fractions — addition and subiraction

é N
O ‘@ Read and answer the questions.
TAKE THE | Anna wants to bake two cakes to sell. She is
making the list of ingredients she needs to buy.

CHALLE NGE _‘)_ For the chocolate cake, she needs 3 / 5 of flour,

for the cheesecake, she needs 6 / 4.

How much flour does she need to buy?
Each kilo of flour costs $11 pesos, how much will she spend on the flour for kes?

\

Adding fractions with unili enominators

Read and complete. ¢
First, write them as equivalen C fo a common
denominator.
a)
6 4
7 5

o)

30 . 28 =
35 35
c) e)
_ 58 — '| 23
5 x 7 35 35

Remember that you can simplify an improper fraction by finding a number to divide both the

numerator and the denominator.




Word problems

Read and answer the questions.

1. Rebecca went to the beach and she noticed that she was leaving footprints as she
walked. The first day, she walked 5 / 6 of the distance between the hotel and the restaurant.
The second day, she walked 7 / 9.
When did she walk the most?

What distance did she walk in total?

2. The kilo of sugar or coffee costs $12. How muc

sugarand 7/ 11 of coffee?

3. Bob se
of the

is landye

/5

md he ?




Subtracting fractions with unlike denominators

Read and answer the question.
Nina has 8 / 9 of her pizza and she gave 1 / 4 to her brother. How much pizza does she have
if after her brother, her mum asked for 1 / 3?

you need to make
S equivalent, Go back to
d check the process for

fractions equivalent.

Look at the addition word probl‘ns P 1 and the subtraction problem you just did.
Identify the words that indic y! to add or subtract and write them in the boxes
below.

/ Addin / Subtracting \




h—
Word problems

Read and answer the questions.
1.Fredruns 11 /9 and Tinaruns 9/ 11. Who is closer to the end if the race is 3 km long?

2. Karla has sold 7 / 9 of the bunch of brownies she made, but h ' i assoldb5/7

of her set. Who has sold the most?

3. Ben filled the tank of his car 7 ﬂ2 a

tank if the car uses 2 / 20 per e

e 5km. How much gasoline was left in the

4. Dian t 12 [/ kilograms of potatoes. For her meal, she used 6 / 4. How much does

she have |




y
You're up!
4 A
Look and write the missing humbers. Make the fractions equivalent.

_4

1
4




Mixed numbers

Read and complete. Then write.

Sam is selling cakes. Each cake has 5 slices. She has 13 slices of chocolate
cake and 17 slices of blueberry cake.
Each slice costs $12, How much can she eam if she sells three cakes?

13 slices = 2 --- 17 slices = 3 -
5 5
ANSWEL: i

Read and complete.

[ below were next fo more

Inthe example , the numler
fraction means “a whole.” Sam had 2 co
chocolate cakesand 3~ slice

happened  the blueberny
3 complete cake & 2
To change mixed number proper

fractions, you have t

1. Mulliply the e nominator. 2 i - 2X5= 10
5

2. sulf'@nd the numerator. - 104+3= 13

3. Wirite thetesult as the new numerator and use 13

the same denominator.




Change the mixed numbers to improper fractions and solve the additions.

5, 72

b

95 4

6

d
1 a, 67

Word problems

Read and answer {

1. Steve bought' 1 literand If of milk for dinner, 2
Va2 lit f juige andy’
How m liters@id he buy in total?

2 Of a liter of cream.




2. Dana is a nurse in a hospital. She wants to know
how many hours she worked this week. Each shift is
eight hours a day. On Monday, she worked 1/3 hours
of the shift. On Tuesday, she worked 5/6. On
Wednesday, she worked a complete shift. On
Thursday, she didn’t work and on Friday, she went only
for 2 hours of the shift,

3. Danna is reading a book. If she read 5 / 8 of 4G
day and 1 / 4 the other day, how much iSileft f @
to read?

s word problem and complete.
The b Is to @ whole number. To Then you need to take away the result from a

e has read, you need to  whole. Since you are using 8 as denominator,

add. you will make the whole based on that
number.
SO
5 . 1 _ + _ 7 1- 8 8 . -
8 4 8 8 8 8 8




To subtract fractions with unlike denominators, you have to change to
equivalent fractions the same way you did it with the adding process.”
Change the mixed numbers to improper fractions. Then to equivalent

fractions, subtract and finally simplify, if possible.

P55 Q.3 _
4

6




You’re up!

-
Look and find 4 chains of equivalent fractions. There is one example.
Example 5 10 20

6 12 24




Area of triangles and parallelograms
.

Read and answer the questions.

-3 ®

TAKE THE l To calculate the area of a rectangle, you should

multiply the length of its base by its height.
CHALLENGE e

3.5¢cm - What is the area of the rectangle?
7.3cm

3.5cm N ave the area of the
7.3cm

Concep’rs Area ¢

Read and complete.
from into ‘
Thearea number of square
units insi

are@yof a friangle, multiply the base
then divide by 2. The division by

the fact that a parallelogram can

2 comes

divided 2 triangles.




Since the area of a parallelogram is base X
height, the area of a triangle should be one half
the area of a parallelogram (as we saw in the
previous picture). Then the formula to calculate

the area of a triangle is base X height, divided

by two.

The area of any shape is expressed in Square units.
Examples: m?, cm?, mm?Zetc.

Calculate the area of these triangles.

12 mm 3.5¢cm

3.4cm

25 mm
7.5cm
A= i, A= i,
Read and answer the q
What is the name of this fi : : 12 mm
Can you see how diff ' a rectangle? I
How do you cal of it? : 8 mm
18 mm

area of a ngle, if, and only if, the figure has
the same base and height — base X height.

= | T~
’
. 7
N
~- J



It is not the same process with a

trapezium because the length of one h m \
< ™ S

parallel is not the same as the other one. v v
So you have to add the length of the two ﬁ. AN
segments, then multiply the result by the «

height and divide it by 2.
12 mm A=(12+18)8

|

|

| 8 mm A=2

| @“
.8cm

18mm
Find the area of the following figures. Write the pro@
1. 2. H

4

4cm

8.2cm

-6.] "

3.9cm




You’re up!
4 )

Can you find the area of this shape?

A




UNIT 4 Time, ’rempera’rhre and spéed

( )

(2

‘ Read and answer the question.

TAKE THE A concert starts at 6:40 pm and, after an hour,
there was a 30-minute break. Then another hour

CHALLENGE _‘)_ and a half.

What time will the concert end?

Explain what you did 1o find the answer:

Look and complete.

It’s five past ...

It’s ten past ...

It's (a) quarter past ..

It's twenty past ...

It's twenty-five past ...

It's half past ...

2.00 -Ifswo &........... 2230 -Ifshalf............... two.

2.05 -Ifsfive............... two. 2:35 - It'stwenty-five ............... three.
210 -IWsten............... two. 2:40 -lif'stwenty ...l three.
2:15  -WWsquarer............... two. 2:45 -lfsquarter............... three.
220 -IWstwenty ............... two. 2:60 -lifsten.........ov.vs three.

2:25 - IWstwenty-five ............... two. 2:55 -lisfive ... three.




We use @t + time when We use It is or It’s to

giving the time of a specific ~ answer a question that asks

event, for the time right now.
1. The class starts ......... nine o’clock.
2. What's the time? It'......... twenty to five.
3. The flight leaves ......... ten to three.
4, What timeisit? It.......... half past four.

Look and write the times shown on the clocks. The times in words.




N.

Read and answer the questions.
1. What time is this?

Q)

b)

C)

d)

Numbers Words

55 minutes later than 4:258m. ™ D e,

20 minutes earlier tha \\ ...................................
2 hours and 1 inuU en 5:30 am.

ura Q;Teslo’rer than 2:15 pm.
It take

at 4 o'clock, at what time does she leave home?

5 minutes to walk o the park. If she arrives ...,

A flight from Can Cun to Mexico City takes T hourand 15 ...,
minutes. The 3:30 pm flight is delayed by 40 minutes.
What time will it land in Mexico City?




Temperature

Read and answer the question.

In the mormning, the temperature is 12°C. At noon, the
temperature increases 10°. Finally, at night, the
temperature decreases 5°.

What was the final temperature that day?

Temperature means measuring how hot or cold
something is.

It is offen measured using a thermometer. The unit G

Look and write the temperature of each
Fahrenheit degrees

SRV IR N

il
I
-
@]

il
i




acmm

i

Look and answer the questions.

Monday Tuesday Wednesday Thursday Friday

|

=
b
o

il

N
@]
i
oy
=]
=]

a)  Which day was the coldest?

)  Which days the temperature was over

d)  On which two days the % elow Q0°F?
e) Which day was the h

c) On which day was the Temerof 205€?

Read a esfions.

he b h. In 30 minutes he has gone 45




Speed shows how fast someone or something moves.
It is difficult for someone or something to keep the same
speed dll the time, so the AVERAGE SPEED must be used, 7

instead.
To calculate the average speed, you need to divide the total
distance travelled by the total time taken.

“We know that Joe goes 45 kilometers in 30
éoge speed

minutes. That means Joe has gone 90 kilometers
in 1 hour. If we multiply 90 kilometers times 5
hours, it equals 450 kilometers.”

Look and complete the chart.

N. Total distance travelled Total time taken

1 200 km 4h

2 850 km

3 420 km 80km/h
4 120km/h
5 130 k 26 km/h

Read and answer th
1. Gina drives 120 ki

total time faken?
4. Acargoes 85 kilometersin 4 hours. Atrain goes 120
kilometers in 3 hours.

Which vehicle goes faster?




You’re up!

7

Look and answer the questions.

Bus A Bus B Bus C Bus D
School 8:15 am @:35 am 11:05 am 1:55 pm
Shopping , , ,
Centre 8:35 am @:50 am 11:30 am 5pm
Downtown 8:45 am 10:00 am 11:40 am
Airport @2:10 am 10:30 am 12:05 pm
1. Which is the fastest bus from school to the shopping centre? L _almh ................
2. Which bus takes one hour from school to the airport? € ..,
3. Which bus is the slowest from downtown 1o the airportZa, O i,

Look and answer the questions.

Average maximum ter

JAN FEB

MAR

APR | MAY

JU OCT  NOV | DEC

19°C | 20°C

23°C

28°C | 32°C

30°C | 25°C | 20°C

a) Which is the hottest mo

p) Which month is the coldest,

N g

?

Which
red 30 km Which
blue 25 km

yellow 45 km
orange 46 km

temiber, October or November?

X2

car is the fastest?
car is the slowest?




e ———
Volume of cuboids

g “ Look and read. Then answer the question.

' ‘ TAKE THE i How much water does Dan need to fill this tank?
CHALLENGE

Explain what you did 1o find the answer:

50 cm

Read and try the experiment.
VOLUME

It is the amount of space that something occupie
CAPACITY

It is the amount of something that can be hel

To understand the relation be‘rwean th C e fry the next experiment.
Instructions:
1. Take a cuboid-shaped confai easure it with a ruler.
2. Follow the formula to ge

3. Fill it with water — liffle b

4, Use the followin fo




Calculate the volume of these cuboids.

1/

2¢m

4 6cm

7.5cm

4.5¢m




You’re up!

7

Complete the number grid by finding the volume of each shape.

Across

e =

Down

@@ @




Probability

e

' ‘ ‘ Read and answer the questions.
TAKE - A box contains 5 blue balls, 3 red balls and 8
THE l yellow balls.

CHALLE NGE 9). The teacher asks Lilly to close her eyes and take a

red ball from the box.

What is the probability that Lily picks a red ball?

Explain what you did 1o find the answer:

Read and complete.

How many balls are there in total?

Since there are 16 badlls, there are 1 ible

outcomes. But, since there are o d balls,
u

the probability 1o get oneyis

This is how it is written:
P(red)= 3/16
PROBABILITY

dif n comes are

probebility of any specific outcome is

Q
O
[92]
228
o
O
o}
C
—_
9]
o
3
D
@
g £

THE FORMULA

Number of outcomes classified as A

Probability of A =
Total number of possible outcomes




Look and write.

Paula rolls a dice. What is the probability that Paula rolls and even number?

How many possible outcomes are there?
How many even numbers are there?
Peven)= .
What is the probability that Paularollsa
number smaller than 5?

Look at the roulette.

What is the probability of gefting avyellow £ ...,
outcome?
What is the probability of gefting a red outs 2 TV

Look at the set of cards from a bingo game.

What is the probability of showing abearcard? <, T, &
What is the probability of having a reptile card? 2, ™




———
Probability line

Read and complete.

Less likely More likely

<€ >
0 1/2
Impossible Equally ertain
likely

From the probability line albove, we can see that
when a probability of an event is:

(0) - the event is impossible.

2 - the event is equally likely.
Between 2 and 1 — the event is likely.
(1) — the event is certain.

Read and write.
In a vending machine there are 40 candies O
colours: 22 are green, 8 are rec%‘s ar are yellow.

What is the probability that 1 e ild yellow candy?

Number of desired outcome

More likely
>
0 1/2 1
Impossible Equally Certain

likely

66) I




You’re up!
4 )
Read and write.

Instructions:

1. Get into pairs.

2. Read the questions and talk to your friend. Then roll a dice.
3. Decide on what the correct answers are and write them.

4. Talk and invent three more questions.

5. Talk and answer the questions.

6. Find the probabilities of the questions on the probability line.

Less likely

<€ >
0 1
Impossible Certain




————————
Proportional properties

=

% ‘ Look at the mathematical crossword puzzles. \

D Write numbers so that each “mathematical
TAKE e ' word” adds up to the numbers provided in the
CHALLENGE 3y clues.
1 17\ /29 2 7 1
15 1 5 5
30 8 13 16
20 5 =0 10
8 17
8 8 s 5 P 11) 10 1 1
8
8 13
25 25 19 19

asurable quantities.

ount increases, the other amount increases at the same rate.
for "Directly Proportional” «.

It means *
This is the sym
e Example:

You learn 8 words in an hour
The number of words you learm is directly proportional 1o how many hours you study.

The more hours you study, the more words you learn; is direct proportion.




acmm

i

Can you read this? P Words learned «. Study hours.

e [fyou study 2 hours, YOU IEAM ..o e
o [fyou study 4 hours, YOU IEAM ..o e
o [fyou study 6 hOUrs, YOU IEAM .. e
o [fyou study @ hours, YOU IEAM ..o e

Constant Proportionality
It is the value that relates the two amounts:
You lean 8 words in an hour — so the constant of proportionality is 8 becaus

Learning = 8 x Study Hours

y = kx
Direct Proportionality
If a magnitude increases, so does the other one.
Sodas 1 4 5
Magnifudes ¢ ost 10 40 50

Divide all the pairs of numbers to find out

1 2 L 0

¢ So the constant of direct \

Inversely Proportional
The more workers are in a

, the fewer days it takes 1o have work done.
, the more days it takes to have work done.
1 2 3

60 30 20 15

60 X 1 = 20 X 3 =
30 X 2 = 4 X 15 =

e So the constant of inverse proportiondlity is




Word problem - Direc; Propor’rion&lity

e Acake costs S

, SO how much would you pay for the other numibers of cakes?

Cakes

1

2

3

4 10 15 20 30

Cost

20

40

60

80

So the constant of direct proportionality is

(Use any of the pairs of numbers in the table.)

* 10 Cakes
10 3
X 60
X = 10 X 60
3
X = 600 = 200
3
20 Cakes

15 Cakes

30 Cakes




Word problem 2 - Diréc’r Propor’ridnali’ry

¢ The volume of water coming out a faucet is 3 liters per hour.
Liters 3 27 42 69

Time 1 hour

So the constant of direct proportionality is
Word problem - Inverse Proportionality
e Cleaning all the rooms in a hotel tak

Maids 1 2
Days 60 30
L 2
e S0 the constant of inv
20 Maids .
(Use any of the pairs of nu S i
20 . X = 2 X . 2 = 4 X 15

X X = 4 15
2
60
X = - = X = - =
20 2
.............. Maids e Days




You’re up!

Read and complete the tables.

The following table shows the numiber of boys and

girls in different feams at the sports centre. Knowing
that the numibers are in proportion, complete the

table.

Number of boys 15 20

Number of girls 8

This table shows the eggs and flour needed to bake
a vanilla cake. Knowing that the ingredients are

proportion, complete the table.

Number of eggs 33 39

Flour (kg)

This table shows the kilo
Knowing that he runs in t
the table.

39 65 26 71.5
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